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QUESTION 1

Application APP_A is performing updates to table TAB1 using the read stability (RS) isolation level. Which isolation level
will allow application APP_B to retrieve all rows from table TAB1 immediately, rather than have to wait until application
APP_A has finished making updates?

A. Read Stability (RS)

B. Cursor Stability (CS)

C. Repeatable Read (RR)

D. Uncommitted Read (UR)

Correct Answer: D

QUESTION 2

Which command is used to back out a subset of database changes that have been made within a unit of work?
A. COMMIT

B. ROLLBACK

C. COMMIT TO SAVEPOINT

D. ROLLBACK TO SAVEPOINT

Correct Answer: D

QUESTION 3

Given the following statement:

GRANT DELETE ON TABLE sales TO Userl WITH GRANT OPTION; Which statement is correct?

A. USER1 can only remove the SALES table.

B. USERL1 can only remove records from the SALES table.

C. USER1 can remove the SALES table and grant the privilege to remove the SALES table to other users.

D. USER1 can remove records from the SALES table and grant the privilege to remove records from the SALES table to
other users.

Correct Answer: D

QUESTION 4
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Which statement about a deadlock is true?

A. The victim will be rolled back.

B. The victim will read through the lock.

C. Both victim and holder are rolled back.

D. The victim must wait until the holder releases the lock.

Correct Answer: A

QUESTION 5

Which statement is true regarding constraints?

A. A table can only have one unique key constraint.

B. A table can have multiple primary key constraints.

C. Informational constraints tell DB2 what rules the data conforms to, but the rules are not enforced.

D. Foreign key constraints are enforced on the values within the rows of a table, or between the rows of two tables, by a
unigue index on a foreignkey.

Correct Answer: C
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